
Final Exam
Microeconomics for Public Policy I
Fall 2022
December 14 or 15, 2022

GWID/Birthdate (not your name):

Instructions

1. Write your name on page 17. Write your GWID or birthdate on all other pages.
Exams without a name on page 17 lose one point.

2. Answer all questions.

3. The exam has 100 points. Points for each section and points for each question are
indicated on the exam.

4. Write legibly. Illegible exams cannot be graded.

5. Do your best to fit all your answers on the front side of the exam. If you need to use
the back of a page, indicate that clearly.

6. Label all figures as needed.

7. Make sure you explain your answers as needed. When appropriate, explain any as-
sumptions that you make to arrive at your answer. Explanations may yield partial
credit.

8. Be concise.

9. The final page is intentionally left blank for extra work. If you do extra work on this
page (or in any other non-standard location) that you would like to be counted, you
must note it clearly near the question you are answering. Do not use extra paper.

10. You are allowed a dumb calculator and no other aids. Leave everything else in your
bag for the duration of the exam.

For marking purposes only
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Part B

Part C
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1



A. Ripped From the Headlines (10 points, 3 points for (1) and (2); 4 points for (3))

Read the article from the Wall Street Journal at the end of the exam.

1. Name two elements of glass manufacturing fixed cost described in the article. Explain
why they each is a fixed cost.

2. Give an example of sunk costs for glass firms mentioned in the article. Explain why these
costs are sunk.
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3. This article was written in 2015. (a) What market change caused the high prices of 2015?
(b) What does the competitive market framework predict about whether prices will stay at
this higher level in the long run? (c) If prices change in the long run, what firm behavior
drives that change? Explain your answer.
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B. Short Answer Questions (5 points each. 40 points total)

1. Name a publicly provided good that is not exclusively a public good. Explain why the
good is not exclusively a public good.

2. Give two examples of factors that could shift the demand curve for a particular market.
For each factor, explain whether the curve shifts inward or outward and why.
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3. Name a firm with market power and describe its source of market power.

4. What are the two key requirements for a firm to be able to price discriminate? And why
would a firm want to price discriminate? Explain your answer.
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5. Define a negative externality and give an example, being careful about to whom this is
an externality. Explain why your example fits the definition.

6. Suppose a firm makes chocolate and peanut butter. Assume the firm has a cost of $1 per
unit for each unit of chocolate and each unit of peanut butter. Suppose that the firm wants
to engage in pure bundling, and that the values in the table below are maximum willingness
to pay for Mr. 1, Mr. 2 and Mr. 3 for each good. Will the firm have higher profits under
the willingnesses to pay listed for Case A or Case B? Explain why.

Case A Case B

Person Choc. PB Choc. PB

Mr. 1 $5 $1 $5 $3
Mr. 2 $6 $2 $6 $2
Mr. 3 $7 $3 $7 $1
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7. Suppose that a perfectly competitive firm has a U-shaped marginal cost curve. Draw this
curve and the associated average variable cost curve. Note on your picture for which values
of Q the firm will produce and explain why the firm is willing to produce only at these values.

8. Can we attribute any changes in the price of nails from 1700 to 2000 to economies of
scale? Explain why or why not, being as specific as possible.
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C. Medium Answer Questions
(50 points, points as noted on each question)

1 (19 points total; 3 points each part, except (f) which is 4) Market Power

Suppose that a firm with market power has a constant marginal cost of 50. It faces a market
demand of Q = 300 − 3P .

(a) What does a firm with market power set equal to marginal cost to choose the profit-
maximizing quantity? Write the equation for this equality.

(b) Solve the equation you just wrote to find the market equilibrium quantity. Draw a pic-
ture that shows all relevant curves, labels axes and intercepts, and depicts this quantity.
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(c) What is the market equilibrium price? Add this to your picture from part (a).

(d) Define producer and consumer surplus, calculate their value in this case, and note their
locations in your figure.
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(e) Is there a deadweight loss? If so, why? And how large is it?

(f) Are consumers harmed by the presence of market power? Explain using the example of
this problem.
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2 (16 points, 3 each except (d) which is 4 points) Production

Suppose that a caramel wafer firm’s long-run total cost curve is TC = 10Q2 + 6Q + 60, and
that the firm’s marginal cost curve is MC = 20Q + 6.

(a) Define fixed cost, and find fixed cost for this firm.

(b) Define and find average variable cost in words and quantitatively for this question.
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(c) Suppose that this is a perfectly competitive firm, and the market price is $106. How
much does the firm produce?

(d) Now that the firm knows how much it is going to produce (see part (c); if you didn’t
find an answer for (c), assume that firm has decided to produce 20 units), it needs to de-
cide how much capital and how much labor to use. Suppose that the production function
is Q = 1

2
KL, that the marginal product of capital is MPK = 1

2
L, and the marginal prod-

uct of labor is MPL = 1
2
K. The firm faces a wage rate of 12.50 and a capital rental rate

of 5. What is the firm’s optimal choice for the quantity of labor? And the quantity of capital?
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(e) Suppose that the firm decides to use another unit of capital. What can you say about
the value of the marginal product of this additional unit relative to the marginal product of
the previous unit? Why?
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3 (15 points; 3 points each part). Public Goods

Suppose that Cathy and Dina both enjoy falafel. Cathy’s demand for falafel is QC =
100 − 1

5
P , while Dina’s demand is QD = 400 − 2P .

(a) Draw Cathy’s and Dina’s demand curves, labeling intersection points for all curves.

(b) What is the market demand for falafel? Write an equation and draw a picture showing
this demand, labeling all intercepts.
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(c) If the marginal cost of falafel production is $16 per ball in a competitive market (these
are very very delicious falafel), how many falafel balls will Cathy and Dina consume in total?

(d) Now suppose instead that Cathy and Dina’s demand curves are for smoke-free air. What
is the market demand for smoke-free air? Write an equation and draw a picture showing
this demand, labeling all intercepts.
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(e) If Dina paid $100 for 200 units of smoke-free air, would Cathy contribute any additional
funds? Why or why not?
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Name: Blank – for extra work
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A typical high-rise office tower can need hundreds of thousands of square feet of metal-framed glass panels. A

Brookfield Property under construction in New York City. PHOTO: BEBETO MATTHEWS/ASSOCIATED PRESS
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New Hudson Facades is a glass-making business that is an offshoot of real-estate developer Related Cos.,

which teamed up with a specialty-metal manufacturer so as to ensure a supply of glass panels. PHOTO: ROBBIE

WHELAN/THE WALL STREET JOURNAL

TOP LOGISTICS NEWS

Get the latest logistics and supply chain news and analysis via an email newsletter. Sign up here.

(http://www.wsj.com/public/page/email-setup.html?sub=365)
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